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- Jango Fett
ROCKET RETREAT

{1 Flay when Jango Fett is atta

After attacking. you may move
Jango Fettto amy empty
space.

Aftack
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- Jango Fett
TWIN PISTOLS

{1 Flay when Jango Fett is atta

Afterresolving the atiack,
Jango Fett makes andgther
immediate attack at a value of
3. Attacked character may
defend as nomal
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- Jango Fett
FLAME THROWER

14 Play anytime on your turn.

Flame thrower does 3
damage to all characers
adjacentto Jango Fett You
may then move these
characters up to 3 spaces eac
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{1 Flay when Jango Fett is atta

After attacking. you may move
Jango Fettto amy empty
space.
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{1 Flay when Jango Fett is atta

Afterresolving the atiack,
Jango Fett makes andgther
immediate attack at a value of
3. Attacked character may
defend as nomal
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FIRE UP THE JETPACK

14 Play arnytime on your turn.

Y'oumay move Jango Fettto
any empty space.

Playing this card does not
countas an action.
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{1 Flay when Jango Fett is atta

After attacking. you may move
Jango Fettto amy empty
space.
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{1 Flay when Jango Fett is atta

Afterresolving the atiack,
Jango Fett makes andgther
immediate attack at a value of
3. Attacked character may
defend as nomal
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KAMINO DART

{1 Flay when Jango Fett is atta

Draw 2 cards. Ifthis card
does damage. the player
controlling the attacked
character must choose and
discard 2 cards.







~Zam Wesell
SNPERSHOT

Attack value is EE|I.IEI] to ﬂ'lE
number of emply squares
between Zam Wesell and the

target. lfthe targetis diagonal,

each square counts as 2

~Zam Wesell
CHANGELING

i1 Play anytime on your turn.
Zam Wesell may change
places with amy character on
the board. After swapping.

Zam may roll the dice for an
extra move phase. Draw 1 card

~Zam Wesell
SNPERSHOT

Attack value is equal to ﬂ'lE
number of emply squares
between Zam Wesell and the
target. lfthe targetis diagonal,
each square counts as 2










